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A word on the how it is done



event-62


Run 101
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amplitudes
Entries  3670
Mean    36.89
Std Dev     12.53
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amplitude distribution

Run 101 (Pixel 11) :  PC=100 V,  MCP = 950 V, Transfer = 200 V, B=0T

adc (* 0.244 mV)

36.98 * 0.244 = 9.001160 mV

Estimation by INCOM Estimation by  INFN, Trieste 

Pulse-height definition is well agreed

threshold = less than 9 adc = less than 2.197266 mV 
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Primary Results
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Calculating the Pulse Height distribution for a certain Run

Aev1 = 1A1 + 2A1 + 3A1 + … + 16A1     

Aev10K = 1A10K + 2A10K + 3A10K + … + 16A10K     

.


.


.

Also, keeping track if it is an empty event, that is if  iAj = 0

distribution of  iAj for a given run

iAj, for i being pad-id, j being event-number
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Mean    7.703

Std Dev     18.41

Sum of amplitudes of all pads [Run-101]
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148 - 2.5 34.82 1.061

149 - 5.0 30.11 1.050

150 - 7.5 30.14 1.052

151 - 10. 35.01 1.077

152 -15 36.63 1.135

153 - 20.0 24.3* 1.400

157 + 2.5 33.17 1.048

158 + 5.0 27.89 1.040

159 + 7.5 23.23 1.027

160 + 10.0 22.6 1.024

161 + 15.0 18.29 1.018

162 + 20.0 18.23 1.032

163 + 30.0 24.50 1.030

198 925 14.01* 1.018

199 950 33.26 1.029

200 975 46.64 1.036

201 1000 61.27 1.053

202 1025 79.17 1.080

203 1050 96.17 1.122

204 1075 112.7 1.195

101 950 40.45 1.155

147 1075 55.74 1.084

PC = 100 V,  MCP = 1075 V,  Transfer = 200 V

B = 1.4 T,  angle = Scan (deg)

PC = 100 V,  MCP = Scan,  Transfer = 200 V

B = 1.4 T,  angle = 15 deg

PC = 100 V,  MCP = Scan,  Transfer = 200 V

B = 0.04 T,  angle = N/A

Run HV mean (adc) pads Run HV mean (adc) pads Run angle mean (adc) pads
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 / ndf 2χ  0.6748 / 5

p0        2.781±143 −  

p1        0.002777± 0.1585 

 / ndf 2χ  0.6748 / 5

p0        2.781±143 −  

p1        0.002777± 0.1585 

HV scan for Pulse-height [all Pads]

PC = 100 V,  MCP = Scan,  Transfer = 200 V

B = 1.4 T,  angle = 15 deg; [Run: 198 - 204]
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Therefore, while looking towards the PhotoCathode

Reality LEGO (just a rotation of 180 deg for now)

A word on the channel mapping



12

1 1.5 2 2.5 3 3.5 4 4.5 5

1
1.5

2
2.5

3
3.5

4
4.5

5
0

1

2

3

4

5

6

LAPPD Pixels
Entries  9
Mean x   2.667
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Average Pulse-heights for Run_101
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Average Pulse-heights for Run_204

Why the max-pad moves from 11 to 15 ?
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Thank You!


